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QUESTION 1

A customer is looking for a new storage system that provides storage management security for their Windows-based
environment. They are considering an HP StoreVirtual 4000.

Which security function does this solution provide?

A. Active Directory support

B. Centralized Management Console (CMC) authentication
C. proxy server exclusion

D. quorum alarms

Correct Answer: A

Note:

* Now available ?LeftHand OS version 10 software (formerly SAN/iQ) ?"one click" online upgrades, support for Windows
2012, Active Directory integration, proxy server support and quorum alerts.

QUESTION 2

A customer plans to migrate data from a third-party storage system to an HP 3PAR solution. The customer has leased
data center space. Which HP 3PAR Storage solution must be integrated into an HP 3PAR rack?

A. HP 3PAR StoreServ 10800
B. HP 3PAR StoreServ 10400
C. HP 3PAR StoreServ F200
D. HP 3PAR StoreServ 7400

Correct Answer: A

QUESTION 3

A customer is migrating data to a storage array with 7 TB of storage capacity. They need 6 TB to be presented on this
array for an existing database requirement.

Which storage virtualization technology should this customer use to optimize the utilization of their available storage?
A. block-level data compression
B. primary storage deduplication

C. virtual replication
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D. thin provisioning

Correct Answer: D

Thin provisioning promises higher capacity utilization rates and is a feature in most storage systems. But buyer
beware--not all thin technologies are created equal. HP Converged Storage offers the most comprehensive and
advanced set of thin technologies in the industry. With HP, your data center can be lean and efficient.

With HP thin technologies, you can:

*

Start thin, so you can get the most from every dollar and disk. Easily utilize 80% or more of your purchased capacity
with thin provisioning, which, unlike competitive offerings, does not require pre-planning or space reservations.

*
Cut storage capacity needs in half--guaranteed.1

Changes IT refresh cycles by providing simple data mobility across clusters or generations of storage systems without
downtime.

Expect high efficiency and high performance--not tradeoffs. With HP 3PAR StoreServ Storage, thin technologies are
embedded in hardware, so you can run all of your workloads in a thin state and still have high performance.

*
Reclaim nearly 100% of unused space.

HP\\'s thin reclamation technology continually hunts down wasted space in fine-grained, 16k increments and returns that
capacity to the system for use by other applications.

QUESTION 4

A customer with a Fibre Channel SAN needs to ensure that in-transit data is secure through the use of device
authentication and encrypted secure key exchange.

Which Fibre Channel standard enables them to meet this goal?
A. FC-PH

B. FC-OE

C. FC-CHAP

D. FC-SP

Correct Answer: D

Fibre Channel Security Protocol (FC-SP) capabilities provide switch-switch and host-switch authentication to overcome
security challenges for enterprise-wide fabrics.

Incorrect:
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Not B: FCoE (Fibre Channel over Ethernet) is a storage protocol that enable Fibre Channel communications to run
directly over Ethernet. FCOE makes it possible to move Fibre Channel traffic across existing high-speed Ethernet

infrastructure and converges storage and IP protocols onto a single cable transport and interface.

QUESTION 5

A customer plans to migrate data from an HP EVA 4400 to an HP 3PAR StoreServ 7400 Storage System. They have
the following requirements:

The new solution must enable them to perform non-disruptive software upgrades.

The new solution must not rely on mutilating.

Which feature of the HP 3PAR StoreServ 7400 Storage System fulfills these requirements?
A. SmartStart

B. Virtual Service Processor (VSP)

C. Peer Persistence

D. Port Persistence

Correct Answer: D
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